Electrons and Chemical Bonds Short Answers
For each of the following elements, determine the electronegativity.

	Element
	Electronegativity

	Hydrogen
	

	Boron
	

	Sodium
	

	Sulfur
	

	Titanium
	

	Arsenic
	

	Technetium
	

	Iodine
	

	Tin
	

	Antimony
	

	Lead
	

	Mercury
	


Determine if the following elements will make a covalent or ionic bond.
	Elements
	Bond type

	Lithium and fluorine
	

	Aluminum and oxygen
	

	Oxygen and hydrogen
	

	Carbon and chlorine
	

	Bromine and sodium
	

	Magnesium and iodine
	

	Carbon and nitrogen
	

	Tin and tungsten
	

	Vanadium and silicon
	

	Calcium and bromine
	

	Potassium and sulfur
	

	Aluminum and lithium
	


1. What are the two types of electrons in an atom?
2. How are valance electrons different from kernel electrons?

3. Why do hydrogen and helium only need two electrons in their outer orbital?

4. Why do all other atoms need eight electrons in their outer orbital?

5. Carbon has four valance electrons.  Describe three ways that carbon could get a stable outer orbital.

6. What happens to electrons when two atoms have an ionic bond?

7. How does the difference in electronegativity between atoms cause an ionic bond?

8. What happens to electrons when two atoms have a covalent bond?

9. How does the difference in electronegativity cause a covalent bond?
